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QID : 1 - Select the related word from the given alternatives.
Product : Multiplication :: Sum: ?

fu e famedt & @ Wefid 2eg &t ghul

TUFTH : IO 22 TR : 2

Options:

1) Comparison

2) Percentage

3) Numbers

Rsped)
4) Addition
EIS)

Correct Answer: Addition

Candidate Answer: Addition

QID : 2 - Select the related letters from the given alternatives.
FHK : DFI:: OQT: ?

fau e fawedt & § Hafia siert &1 ghul

FHK : DFI :: OQT : ?

Options:

1) NPS

2) PRT

3) MOR

4) QsV
Correct Answer: MOR
Candidate Answer: MOR

QID : 3 - Select the related number from the given alternatives.
10001 :10101::101:?

fau e fawedl # § Wefid S a1 ghe|
10001:10101::101:?

Options:

1) 11

2) 201

3) 100

4) 121
Correct Answer: 201
Candidate Answer: 201

QID : 4 - Select the odd word from the given alternatives.

faw e fased! # & faww wrea 1 ghul
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Options:
1) Trousers

Yo

2) Shirt

e

3) Pants

e

4) Shorts

RIS

Correct Answer: Shirt

Candidate Answer: Shirt

QID : 5 - Select the odd letters from the given alternatives.

fu e fawedt o @ faww siert &1 gl
Options:
1) EHK

2) ZBD
3) LOR

4) SVY
Correct Answer: ZBD
Candidate Answer: ZBD

QID : 6 - Select the odd number from the given alternatives.
feu g fawedt & ¥ fawy T@ &1 g+ g

Options:

1) 10

2)20

3)15

4) 30
Correct Answer: 15
Candidate Answer: 15

QID : 7 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
win, note, grain, broker, ?

T 3Ry foar T B, o U Wee g1 fau e fawent B § 97 WEt fadwed 9T ot ST & IR $R|

win, note, grain, broker, ?
Options:
1) refund

2) pony
3) banking
4) mutually

Correct Answer: banking
Candidate Answer: banking

QID : 8 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
KIMnO, qRsTu, WxYzA, cDeFg, ?
% 3gepd 3 T 8, o U ue g 31 iU e fased B ¥ 97 Wl fawmed g St SR H & I $

KIMnO, qRsTu, WxYzA, cDeFg, ?
Options:

1) iJkLm

2) HikL

3) [iKIM

4) hIjKl

Correct Answer: IjKIM
Candidate Answer: IjKIM
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QID : 9 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
0,38,?,24,35
T 3gehd 3o T 8, o U Wem g 81 fou U fawedt # ¥ 95 UEt fided g o Siwy B [T R

0,3,8,?2,24,35
Options:
1) 15

2) 16
3) 18

4)9
Correct Answer: 15
Candidate Answer: 15

QID : 10 - Faiyaz's birthday is on Wednesday 12th April. On what day of the week will be Shray's Birthday in the same year if Shray was born on 2" October?

T T I QAR 12 38Id &1 B 1 Al 99 BT 97 2 SHaqER Bl gt o7 Y S 99 97 FT i g § fon fa gme
Options:

1) Monday

AR

2) Saturday

3) Wednesday
FYIR

4) Sunday
REEIN

Correct Answer: Monday

Candidate Answer: Wednesday
gUdR

QID : 11 - The weights of 4 boxes are 20, 90, 40 and 60 kilograms. Which of the following cannot be the total weight,in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

IR SaE1 BT g 20, 90, 40 3R 60 Tpeiam &1 Fafied # I sowi & e i Gaor I Ho aur, faiomm § BiF I1 6 8 ol § 3R T G2 § e 91 U
2 SR YANT & 9T off el 87

Options:

1) 210

2) 170

3) 190
4) 200

Correct Answer: 200
Candidate Answer: 210

QID : 12 - From the given words, select the word which cannot be formed using the letters of the given word.
SMOTHERS

frafafed fowedl § ¥ a8 Weg gAY off 3T T XMea & 1&RT BT TANT I a1 a1 ol Gabvdl:

SMOTHERS

Options:

1) THOSE

2) METRO

3) STORE

4) TEARS

Correct Answer: TEARS

Candidate Answer: TEARS

QID : 13 - If FRISKED is coded as HTKUMGF, then how will SUN be coded as?

Ife FRISKED &) {6t ®ie # HTKUMGF f3RaT ST 8, f SUN &1 38t is # o1 forar smemm?
Options:
1) UWP

2) RGZ
3) KMJ

4) ZBF
Correct Answer: UWP
Candidate Answer: UWP
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QID : 14 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
80+2+25+5-10="?
ot s T &, '+ BT Adad X' 8, - BT HIA '+ €, 'x' BT Adqd '+ § IR '+ &1 Adas - 1 Fafaiad uy w1 SR g2

80+2+25+5-10="?
Options:

1) 35

2) 98

3) 36

4) 45
Correct Answer: 45
Candidate Answer: 45

QID: 15-1f 45 % 11 = 7, 59 % 34 = 7 then what is the value of 55 % 4 = ?

IfS 45 % 11 = 7, 59 % 34 = 7 A 55 % 4 = ? $H HH 1A HifoQ|
Options:

1)6

2) 40

3)45

4)50

Correct Answer: 6

Candidate Answer: 6

QID: 16 -

Select the missing number from
the given responses

fow a1v feedt & & oo

e gfdv|
102|189 | ?
87 (45| 25
15 | 44 | 50

Options:

1) 13

2) 25

3)77

4) 15

Correct Answer: 77
Candidate Answer: [ NOT ANSWERED ]

QID : 17 - Two cars C and D start from the same point. C travels 9 km South, then turns to its left and travels another 11 km. D travels 3 km East, then turns South
and travels 5 km, then turns to its left and travels another 8 km. Where is D with respect to C now?

A PR C AR D TF € fig I Lo Hxadl &1 C femn 3 ¢iik 9 5,1, B am Feelt B, R ot o1 ok g el B ok 11 5.7, ) o oiR ovelt 81 D yd &1 3
.. agwm% o gfaor it ofR g oIt § ok 5 fo5.1f), Y am welt 7, R oot o1 ofik g Sircit § oIR8 oot &) am ofk oovelt 81 ¢ Y Rufa & sr@ D
BEI W &7

Options:

1) 4 km South

4 5. 1. <o

2) 14 km North

14 f5. . IR

3) 4 km North

4 fo. . W

4) 14 km South

14 T =, 3o

Correct Answer: 4 km North

4fHH. I

Candidate Answer: 4 km North
4 fr . IW
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QID : 18 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should street lights be switched off after midnight?

Argument I : No, statistics show that crime and accidents increase if street lights are switched off.
Argument II : Yes, few vehicles ply after midnight, expensive electricity will be wasted.

Uy T U HU far mar & R 3 &Y b 1 3R 11 fou T B 1 3iueh! AT R 6 U O 918 98 9ERud: 1d a9 i udid €iar 811 euee) i e § )
U T d F | BI-T/B1-Y db Aol €, I BIS

FYT : A1 A1 T B TG TSP B ARFT DI dg B ¢AT AMGT?

P 1 : TET, S Iad § [ 3R Ted 3! AT o 8 el 8 O SoRTY 3IR gefeny 9g e 8
T 11 : T, 3Mef A & 1 O dre dIerd Bid 8, A farorelt wafe € St 31

Options:

1) if only argument I is strong.

Ife Hael d% 1 A9Sd ¢!

2) if only argument II is strong.

e Had a 11 HAlEd 7

3) if both I and II are strong.

gfe &1 a1 3R 11 Hoigd ¢

4) if neither I nor II is strong.

e 1 b 1 3R A1 & 9 11 Aeld B
Correct Answer: if both I and II are strong.
gfe S a1 SR 11 Torgd g

Candidate Answer: if only argument I is strong.

T Pad db 1 Aogd 2
QID:19-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fArfaf@a 3cR aefa # § Fi9 @1 ga
Ru 1w wea Impfar # & g wa &
AT 6T AT HHAT?

O
Bl: :
[]

Options:
1)

4)
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Correct Answer:

o[/

Candidate Answer:

/|

o))

QID: 20-
In the following figure, square represents Painters, triangle represents
women, circle represents Accountants and rectangle represents
Americans. Which set of letters represents Americans who are not
accountants?

Frafitad smefa &, o foer! & exifar s, By afgast o cxfar
2, 99 AEIERI B Gl 8 3R md Affear o qifar 81 eart
BT D 91 THE ARG 1 gl & o TEaR 61 82

¢ | P F
B fA) 6 N\
E
H

Options:

1) D,CH

2)GH

3)G,B,E

4)D,A

Correct Answer: G,H
Candidate Answer: G,H

QID: 21 -
Which answer figure will complete
the pattern in the question figure?

fArfaf@a & & la-dr se Impfa wea
i & gfawq @ qu HEf?
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Options:
1)

3)

4)

Correct Answer:

Candidate Answer:

QID:22-

From the given answer figures, select the
one in which the question figure is
hidden/embedded.

& ¢ Ieal HFTaLt F & 39 3l A g
A uee agfa @Rd g
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 23 -

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

g IHiAt #A @ IHFAR FETs
Az 30A Vg T JUT e F oG 98
e 3car i i s &I

http://thepracticetest.in/cs_cglet1 _D@Wdihk@ _aﬂeMﬁH' [lg) @@MSK\FODJWWWW(Q 36806 2ul74107tc0s1 71712c90c3885¢ 8/25



91712017 Download More PapestftSetectiongommisiovtJobsAlert.In
(:)ptions:

T L
B @

il

2)

4)

G

ODO

150
Q.0
wal
Candidate Answer:
[l ]
Q0

i

QID: 24 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

afe v gdor F1 MN T@T 9T @1 S0 A7 & T
Soal et 3 F wla-al repfa e mia
FT W TiataFa greir?

M N

=

i
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Options:
1)

& sfelult
P RGN Y P

Candidate Answer:

%

QID: 25-

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given in
the alternatives are represented by two classes of
alphabets as shown in the given two matrices. The collimns
and rows of Matrix-I are numbered from 0 to 4-and that of
Matrix-II are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its
column, for example 'K' can be represented by 42, 34 etc
and 'Z' can be represented by 76, 59 etc. Similarly, you
have to identify the set for the ward 'SELF'.

UF WeE Fad UF HEA-EAE GaNT edirm anm §, o fR
fomedt & & TR vF ® T oy &) feeewT F e oww
TE-aap Rt & & @it gan axiiv v § S fF R
av & gt A ¥ amegp-l & wee i 9 S den
0 # 4 3T 3megE-ll Fr 5§ 9 ¥ I WegE  0F HeW
FT uger IR g it @ F weer e ga g o
ThT &1 3eENOT F T K #r 42, 34 3 g@wr g o
T & T 2 @ 76, 59 R g@rr g ST e &
st @E @ e W A Re g 'SELF & faw wHg &

qEI §
Matrix | Matrix Il
EITE][ «1 Ell'ﬂ“' i (]

o 1 2] 3 4 5 8|78 9
0O|H|H|D ] C S|O0|Y|T|N| 2
1| D|A|H I G 6|V Q| R|S|Q
2 B K K| E L TV z Uu|als
3| G|H|A|B K g|o|P|T|O|N
4(A|F|K|C|D 9|5 N| Y|V O
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Options:
1) 95,23,24,41

2) 44,43,87,95
3) 04,31,85,58

4) 24,04,66,77
Correct Answer: 95,23,24,41
Candidate Answer: 95,23,24,41

QID : 26 - The collection of all possible combinations of the goods and services that can be produced from a given amount of resources and a given stock of

technological knowledge is called the of the economy.

IUA TG BT T TUT IUT WD I & GRT S BT o Yot arett Tl awgsit ofik Taraft & wvdt Svifaa ant & wog o srfoqaen o

T Il 1

Options:

1) Resource Probability Set

T HTeTd ¥e

2) Production Probability Set

I JUTT I

3) Resource Possibility Set

T UG e

4) Production Possibility Set

I YU 9

Correct Answer: Production Possibility Set
JAE YU ¥e

Candidate Answer: [ NOT ANSWERED ]

QID : 27 - If at a price, market supply is greater than market demand, we say that there is in the market at that price.
I TP PId R, TR TGN TR T Q 1A §, O 39 $19d W IoR o FHEard gl

Options:

1) Equilibrium

2) Excess Demand
3) Excess Supply

4) Marg_inal Revenue

i Tofa

Correct Answer: Excess Supply

Candidate Answer: Excess Demand

QID : 28 - In which year was All India Anna Dravida Munnetra Kazhagam (AIADMK) founded?

T 3fear 3 5fae TAa HeTH (THETSITHF) Bt R fore oy & g52
Options:
1) 1949

2) 1999
3) 1972

4) 1997
Correct Answer: 1972
Candidate Answer: [ NOT ANSWERED ]

QID : 29 - Which Fundamental Right in the Indian Constitution includes equal access to shops, bathing, ghats, hotels etc?
YRdTT WU & g Aifee SifieR & siarfd g, 78T, UTe, gied 3 RIFl TR Y0 Ya< &7 SHfRieR M 82

Options:

1) Right to Liberty and Personal Freedom

AT BT SABR Td HfGaTa W@

2) Right to Freedom of Religion
ESREGICIRIDEAN

3) Right to Equality

T BT SHTHR

4) Cultural and Educational Rights

Trepiad iR e SHfHR

Correct Answer: Right to Equality
A BT HYDBR

Candidate Answer: Right to Liberty and Personal Freedom

WA BT B R T4 TG Waiadl

QID : 30 - For how many days did Mahatma Gandhi's volunteers of the Salt satyagrah walked?
T TATg § At medieh @ et fran i dw Sea aah o
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Options:
1) 24
2) 36
3) 12
4)6
Correct Answer: 24
Candidate Answer: [ NOT ANSWERED ]

QID : 31 - The Tomara Rajputs, were defeated in the middle of the twelfth century by the Chauhans of

R4l Tt & A B AR I B P dIgHI A W o
Options:

1) Ayodhya

3

2) Ajmer

SR

3) Dwarka

4) Gwalior
R

Correct Answer: Ajmer

Candidate Answer: [ NOT ANSWERED ]

QID : 32 - India is the largest country in the world.

URd 3y 1 T TS 3T R
Options:

1) 3rd

SRR

2) 5th

gt

3) 7th

grddi

4) 9th

Hrat

Correct Answer: 7th
RIGE

Canqidate Answer: 7th
RIGEI

QID : 33 - The place on the earth's surface above the focus is called the

I5H $% B YIdE R IUS Hbedd W S ___ Hed ol
Options:

1) focus

IH b5

2) incentre

Sd:dg

3) epicentre

4) circumcentre
Correct Answer: epicentre

Candidate Answer: epicentre

QID : 34 - The male sex accessory ducts include vasa efferentia, epididymis, vas deferens and

T R W AR1al 3 sft i St ¥ g ey, sifigue, Ydes R
Options:

1) Cervix

TR e

2) Rete Testis

T STy
3) Glands
pRE

4) Seminiferous Tubules
RIeholdh | ABTY
Correct Ans_wer: Rete Testis

CLW
Candidate Answer: [ NOT ANSWERED ]

QID : 35 - The meristem which occurs between mature tissues is known as meristem.

e ARH R Iad! & 9 g1 & 99 9 AR F5d B
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Options:
1) Intercalary
Sfad=ht

2) Primary
eIy
3) Lateral

4) Apical
iy
Correct Answer: Intercalary

Candidate Answer: Intercalary

QID : 36 - Which of the following Phylum are also called flatworms?

fFrafifed & @ 5 wreem 31 Tue i off Fer o 82
Options:
1) Mollusca

2) Chordata
3) Ctenophora
THBR

4) Platyhelminthes
Correct Answer: Platyhelminthes

Candidate Answer: [ NOT ANSWERED ]

QID : 37 - In the formula average velocity = (u + v) /2, u is the

AT IMF I =(u+v) /2, Fu___ ¢l
Options:

1) Final velocity

i o

2) Initial displacement
RS

3) Initial velocity
IR a7

4) Final displacement

Correct Answer: Initial velocity
IR a7
Candidate Answer: Initial velocity

YRS 97
QID : 38 - Vocal chords in women are than vocal chords in men.

Afgenall & aip-dg Ios & aip- dgefi dI ganH . B 8l
Options:

1) 5mm shorter

5 forft, &7 e

2) 15mm shorter

15 oo, 39 dan

3) 5mm longer

5 i, aiferep da

4) 15mm longer

15 2R, o e

Correct Answer: 5mm shorter
5 forft, &7 e

Candidate Answer: [ NOT ANSWERED ]

QID : 39 - The web uses the to request and serve web pages and programs.

39 7 99 Ui SR Tl & SFRIY % O ok 3% [ AR & o T YT BT B
Options:

1) Hyper Text Marketing Language

B/ TR SIGK

2) Hyper Text Markup Language

B RS [Th 3T At

3) Hotmail Text Markup Language

FleNd HRE HIH Y asl

4) Home Text Markup Language

B TRE AIH 3T Tl

Correct Answer: Hyper Text Markup Language
BB TR TH 3T ATdol

Candidate Answer: Hyper Text Markup Language
TEWR RS [TH 3T Tat
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QID : 40 - What is the name of the acid in grapes?

SR W HH I7 TRYS U ST 82
Options:
1) Lactic acid
3
2) Formic acid
3{FT
3) Acetic acid
wHifew o
4) Tartaric acid
3T
Correct Answer: Tartaric acid
3
Candidate Answer: Tartaric acid
I

QID : 41 - Which fibre is also called as artificial silk?

T J fHa X (BIEaR) & HHT I H8l A1 82
Options:

1) leon

BIENIE]

2) Rayon

Ruici

3) Polyester

4) Acrylic
Correct Answer: Rayon

Candidate Answer: Nylon

QID : 42 - During the past century, the temperature of Earth has increased by

Td YaTsd! § gt & qrgAE § g
Options:

1) 0.6°C

2) 1.6°C

3) 2.6°C

4) 3.6°C

Correct Answer: 0.6°C

Candidate Answer: 0.6°C

QID:43 - scheme was launched by the Central Government to give financial services to weaker section of society.

A $ HHAR T ! g GgTae & & Sex § Hs WIR 7 TS TRY B
Options:

1) Sukanya Samridhi Yojana

&= o

2) Bal Swachta Mission

CIGRSELINENE]

3) Pradhan Mantri Jan Dhan Yojana

AT S o o

4) Beti Bachao Beti Padhao Yojana

& e 9t ygreh e

Correct Answer: Pradhan Mantri Jan Dhan Yojana

U SF &4 AT

Candidate Answer: Pradhan Mantri Jan Dhan Yojana

U S & Ao

QID : 44 - Who discovered Uranus?

30T (U8) B! W fobem @t o2
Options:

1) Sir Isaac Newton

[ MWD g

2) William Henry Fox Talbot
faferay 3 wiew Caeie

3) William Herschel

4) Nicolaus Copernicus
Correct Answer: William Herschel

Candidate Answer: William Henry Fox Talbot

fafergm 378 wia
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QID : 45 - Who was the host nation of 2015 Men's Rugby World Cup?

B T3 2015 Wl {3y FHY (GIW) FT AoaH U1
Options:
1) New Zealand

2) .South Africa
SIRMOT oI
3) Australia

4) Igngland
Correct Answer: England

Candidate Answer: England

QID : 46 - Who started construction of Nalanda (Mahavihara) ?

ra-al (FeTfagR) &1 Ao 3= & faras wramr ur
Options:

1) Dharampala

YHUTA

2) Ashoka

SMNH

3) Kumaragupta

PURNW
4) Harihara

Correct Answer: Kumaragupta
PHRTW

Candidate Answer: Dharampala
YHUTA

QID : 47 - Who is not amongst the winners of Nobel Prize 2016 for Chemistry?
fo@ af 2016 T XA fag & AT A19e RBR Y e 82

Options:

1) Jean-Pierre Sauvage

S o Tawt

2) J. Michael Kosterlitz

. AHd -

3) Sir J. Fraser Stoddart

W I ToR Wee

4) Bernard L. Feringa

SIS wet. i

Correct Answer: J. Michael Kosterlitz
. AP BReR(res

Candidate Answer: [ NOT ANSWERED ]

QID : 48 - Which of the statements given below are correct?

1. The author of the novel 'Missile Gap' is Charles Stross.
2. The author of the novel 'Bird Box' is Victor LaValle.
3. The author of the novel 'The City and the City' is China Mieville.

A A R A A I D Y FUT T 72

1. I "R Ao & e I W g
2. IUY "I Sl b AW fdeeR A g
3. I < et s T Ry & o =g fufde g

Options:
1) 1and 2
13R2
2)2and 3
23R 3
3)1land3
131R 3

4) 1, 2and 3
1,28k 3
Correct Answer: 1 and 3
131R 3

Candidate Answer: [ NOT ANSWERED ]

QID : 49 - Which country was India's largest overseas investment destination in the year 2015-16?

Y 2015-16 H, DA A1 SV HRT $T Yo FaT [I3=R 3w 7idqer ure
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Options:
1) Mauritius

2) Switzerland
3) Saudi Arabia

BETAREEC
4) Australia

Correct Answer: Mauritius

Candidate Answer: Mauritius

QID : 50 - China does not share its border with which Indian state?

= st T o) v YRt 5T F e e AR 82
Options:
1) Bihar

2) Arunachal Pradesh
BT USRI

3) Himachal Pradesh
4) Sikkim

Correct Answer: Bihar

Candidate Answer: Bihar

QID : 51 - What is the LCM of 64 and 56?
64 3R 56 BT TYTH FHITTAD FT &2

Options:
1) 448

2) 488
3) 484

4) 408
Correct Answer: 448
Candidate Answer: 448

QID : 52 - A and B together do a job in 6.75 days and A could do the job in 9 days if he worked alone. How many days would B take to do the job if he worked
alone?

A 3R B e U w1 6.75 o § qR1 v § SR A vl gt B 9 forli & T IR el 71 AfS B St 96} HTH Xl oY S BT T HRA & e fa e
Options:
1)27

2) 18
3)24

4) 21
Correct Answer: 27
Candidate Answer: 27

QID : 53 - What is the diameter (in cm) of a sphere of surface area 154 sq cm?

154 i .7, gy At a1 T BT oy (.. F) @ 22
Options:
1)3.5

2) 14
3) 10.5

4)7
Correct Answer: 7
Candidate Answer: 7

QID : 54 - A Rs 100 shirt is offered at 10% discount and a Rs 300 pair of trousers at 20% discount. If Pritam bought 1 shirt and 3 pairs of trousers, what is the
effective discount (in %) he got?

TH 100 3 T W 10% F< T UG 0T STl B 3R TP 300 T & Uc & W8 W 20% B e &t ot 31 R Waw 7 1 T &R 3 W Ue TR, o I bt uwrdt ge

(% T) faref?
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Options:
1) 19

2) 18
3)17

4) 16
Correct Answer: 19
Candidate Answer: 19

QID : 55 - A's wealth is 5/7 times of B's and C's is 10/7 times of B's. What is the ratio of C's wealth to A's?

A Uy B ¥ 5/7 AT § 3R C &1 B ¥ 10/7 AT g1 C B! Tufy &7 A &1 Tufey & SuTd o= 2
Options:
1) (49:100)

2) (1:2)
3) (2:1)

4) (100:49)
Correct Answer: (2:1)
Candidate Answer: (1:2)

QID : 56 - The average of four consecutive odd numbers is 64. What is the value of largest number?

TR TR 3w Temrsit o1 3id 64 21 ARTdad (dmoiee) GBI &1 HIF o 82
Options:
1) 65

2) 69
3)71

4) 67
Correct Answer: 67
Candidate Answer: 67

QID : 57 - If a wholesaler, sells a box of chocolates at Rs 960 he gains 20%. Now if he decides to sell it at Rs 1120, what is his profit percentage?

Ife; T Ui AMIRT e HT S 960 T B ST 8 af SY 20% BT TATHT Bl 5l 319 TG 98 T/ 1120 I F S5 HT B IR1 § al ITbT Ay Ufarsrd fosa 82
Options:
1) 30

2) 40
3) 50

4) 60
Correct Answer: 40
Candidate Answer: 40

QID : 58 - A man wills 25% of his wealth to charity and rest to his family. What percent of the wealth willed to charity does the family get?

T i 3O HURY BT 25% I 3R AW 30 IRAR &1 3 ) J8ad §1a1 21 S H fe 718 TJufRy 7 fpamn ufawra aRar & firerar 82
Options:
1) 200

2)33.3
3) 300

4) 25
Correct Answer: 300
Candidate Answer: 300

QID : 59 - If a person walks at 15 km/hr instead of 9 km/hr, he would have walked 3 km more in the same time. What is the actual distance (in kms) travelled by

him?

H%?ém%9%ﬁa/ﬂaﬁw15ﬁﬁﬁma/ﬁawaw%,aagmwﬁ3mwmwm|w%mauaﬂﬂéamﬁaﬁgﬁ(%ﬁaﬁ)
FR?

Options:

1)55

2)6.5
3)4.5

4)7.5
Correct Answer: 4.5
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Candidate Answer: 4.5

QID : 60 - Ganesh invested an amount of Rs x in a fixed deposit scheme offering 5% per annum for 1%t year and 15% per annum for 2nd year and received an
amount of Rs 9660 after two years. What is the value of x (in Rs)?

ORI U AT ST e B x 30T &t IR &1 1 9 & T 5% Ui af Bt aR 9 g I & U 15% Ul 9 @t @x & A i iR 3 urd a1g 9660 T @t AR
I BT x (¥ ) B A R 82

Options:

1) 9000

2) 8000

3) 8500

4) 8200

Correct Answer: 8000
Candidate Answer: 8200

QID : 61 - If [4(2x/5 - 3/2)]/3 + 7/5 = 37/5, then what is the value of x?
T [4(2x/5 - 3/2)1/3 + 7/5 = 37/5 B, A x BT AF T &?

Options:

1) -15

2)7/5

3)15

4) -7/5
Correct Answer: 15
Candidate Answer: 15

QID:62-Ifa-b =4andab = -3, then what is the value of a3 - b3?

gida-b=43Rab=-38 dad-b3 I A RE?
Options:

1) 21

2) 28

3)23

4) -20
Correct Answer: 28
Candidate Answer: 28

QID : 63 - Sum of twice a fraction and 3 times its reciprocal is 29/3. What is the fraction?
s i & 1 TN oiR 39 Y & Sgeh| & 3 T[T &1 A1 29/3 71 98 i T 82

Options:

1) 2/9

2)5/4

3)4/5

4)9/2
Correct Answer: 9/2
Candidate Answer: 9/2

QID: 64 - The 7t and 12t term of an arithmetic progression are -15 and 5 respectively. What is the 16t term?

iR Aoft BT Trdai 3R sTexai UG HAS: -15 3R 5 31 16-d1 UG 41 22
Options:

1) 25

2) 29

3)21

4) 33
Correct Answer: 21
Candidate Answer: 21

QID : 65 - What is the reflection of the point (4, -3) in the line y = -2?

Xy = -2 7 g (4, -3) F1 vfofee 7 82
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Options:
1)4 1)

2) (-4, 1)
3) (4 -1)

4) (4, -1)
Correct Answer: (4, -1)
Candidate Answer: (-4, 1)

QID : 66 - The distance between the points (2, 7) and (k, -5) is 13. What is the value of k?

fagaft (2, 7) 3R (k, -5) & g B g 13 B k BT T F1 2
Options:

1)-7

2)7

3)6

4) -6
Correct Answer: 7
Candidate Answer: 7

QID : 67 - What is the equation of the line perpendicular to the line 5x + 3y = 6 and having Y-intercept -3?
I 3@ BT GHIBRUT T 2 Sfb TN 5x + 3y = 6 b Avaad & AR oIl Y-ufawse -3 82

Options:
1)3x -5y =15

2)3x + 5y =15
3)3x-5y =-15

4) 3x + 5y = -15
Correct Answer: 3x - 5y = 15
Candidate Answer: 3x - 5y = 15

QID : 68 - D and E are points on side AB and AC of AABC. DE is parallel to BC. If AD:DB = 2:5 and area of AADE is 8 cm sq, what is the area (in sq cm) of
quadrilateral BDEC?

%ABcﬁW&TTAB 3R AC R D 3IR E fg &1 DE BC & THiaR 81 Afd AD:DB = 2:5 § 3R AADE &1 &t 8 a7 &Y. §, @ aqys BDEC &1 &= (aif I.1ff, &)
?

Options:
1) 98

2) 94
3) 90

4) 86
Correct Answer: 90
Candidate Answer: 90

QID : 69 - What is the value of Sin 30° - v2 Cos 30°?

Sin 30° - V2 Cos 30° &1 T T §?
Options:

1) (1-V6)/V2

2) (1-V6)/2

3) (3-V6)/2

4) (3-V6)/V2

Correct Answer: (1 - V6)/2
Candidate Answer: (1 - V6)/2

QID : 70 - A XYZ is right angled at Y. If m 2Z = 60°. What is the length (in cm) of YZ, if ZX = 9v3 cm?

AXYZ, Y R GHSBIU g1 Tfe m 2Z = 60° B, d YZ B} ofars (I, ) g, afe zx = 9v3 .41 72
Options:

1) 3v3

2) 3v3/2

3)9v3/2

4)V3

Correct Answer: 9v3/2

Candidate Answer: 9V3/2
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QID : 71 - If Sec 6 = 13/12, then what is the value of Sin 6?

Tfe Sec 6 = 13/12 §, o1 Sin 6 T A T §?
Options:

1) 5/13

2) 12/5

3) 12/13

4) 5/12
Correct Answer: 5/13
Candidate Answer: 5/13

QID:72-
The bar graph shows revenues in rupees lakhs from selling four different products (4, 8, C, D) by a
certain company. Study the diagram and answer the following questions.

IR A TF HE w # AR e e (a6, c,0) 3 T ¥ gf Tee @
TG #) T ¥ 3F ANE &3S w0 N et e & 3o &)

B2ms W6

Revenucs in Rs. Lakhs /
T (BT AR 5

Product [/ I35

Revenues from which product were the least in both the years 2015 and 2016?

¥ 2015 3R T 2016 ST F T IadTE BT IS Jod HH UT?
Options:
1)D

2)A
3)B

4)C
Correct Answer: D
Candidate Answer: D

QID:73-
The bar graph shows revenues in rupees lakhs from selling four different praducts (4, B, C, D) by a
certaln company. Study the diagram and answer the following questions.

an ars U AT Feel @ 9w e Soul (ae, o o) 3 R @ gf e (wu
et #) TeleT 1 56 W@ & Heaha w1 3 FetatEa weet S 3ot &1

525
500 B20E W6

5 8 EF G

Revenues in Bs. Lakhs /
g

T (BT AW 5

a

By what value (in %) the revenue from sale of product B in 2016 was greater than that of 2015?
Y 2016 B IUTE B B! faeh! T g Iond a¥f 2015 & ga-1 § foram (% H) oifiias r

Options:

1) 0.5

2)5

3)25

4)2
Correct Answer: 5
Candidate Answer: 5
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QID:74-
The bar graph shows revenues in rupees lakhs from selling four different products (4, 8, C, D) by a
certaln company. Study the diagram and answer the following questions.

ax T T AT S # aR e seer (a0 co0)F T @ g Teww @
TG ) TET ¥ 3F ANE &3S w1 1N Eeatad e & 3o &)

B2ms W6

i 5 B

Fevenues in s, Lakhs /
S

T (ET ARGl 5

-}

Product [/ Fo915

By what amount (in Rs crore) the total revenue by selling all the four products in 2016 is greater than that of 2015 ?

2016 T T IR Iae! B fah! I gon et Tora IY 2015 B AT B b 3w (GRS T H) 82
Options:

1)1

2)0.75

3)15

4)1.25
Correct Answer: 1.25
Candidate Answer: 1.25

QID: 75 -
The bar graph shows revenues in rupees lakhs from selling four different products (4, B, C, D) by a
certaln company. Study the diagram and answer the following questions.

mmwmﬁ:ﬂ:ﬁﬁaﬁﬁlﬁ-@ﬁraﬁﬁ?(n,a,c,o;ﬁﬁﬁagémm
AT ) AT §| 5F T W euae &7 3R eeateT Tt & 5o &

5 8 EF G

Fe vemues in s, Lakhs /
g

T (BT AW 5

a

Product [/ Fog

If the cost of producing and selling the four products was Rs 10 crores each in 2015 and 2016 then what is the cumulative profit (in Rs Lakhs) earned in the years
2015 and 20167

e a9 2015 3R I 2016 F IRY IANET F IS 3R [FBt BT AT YD TN 10 HRIS IUT off o af 2015 3R T 2016 H a1 T TN (AT T ) AT o
Options:
1)75

2) 25
3) 50

4) 100
Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The boy who (1)/ sat close him (2)/ was his son. (3)/No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2
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QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

When I returned I felt (1)/ a big cat brush side me (2)/ as I opened the door. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 3

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Ever since Anita lost her job, she has done but wallow in self-pity.
Options:

1) none

2) nothing

3) no

4) never

Correct Answer: nothing

Candidate Answer: nothing

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

As I think back to my childhood, I recall the fun summers on my grandfather's farm.
Options:

1) wistfully

2) fiscally

3) hopefully

4) Awfully

Correct Answer: wistfully
Candidate Answer: [ NOT ANSWERED ]

QID : 80 - In the following question, out of the four alternatives, select the word similar in-meaning to the word given.

Pillage
Options:

1) Bequeath
2) Consign
3) Entrust
4) Desecrate

Correct Answer: Desecrate
Candidate Answer: Desecrate

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Cluster

Options:

1) Individual

2) Assemblage

3) Specific

4) Solitary

Correct Answer: Assemblage
Candidate Answer: Solitary

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rampart

Options:

1) Barricade

2) Fort

3) Embankment

4) Ditch

Correct Answer: Ditch
Candidate Answer: Barricade

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Epidemic

Options:

1) Contagious

2) Endemic

3) Limited

4) Infectious

Correct Answer: Limited

http://thepracticetest.in/cs_cglet1 _D@Wd)hbé _&ﬂthﬂ’@l d?@pexm%mmw&wwm@ 3680627410705 471712c90c3885¢ 22/25



91712017 Download More Pape8taftSelsctionCommision vtJobsAlert.In

Candidate Answer: Infectious

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To have at one's fingertips

Options:

1) To be very fast on the keyboard

2) To be adroit with a percussion musical instrument
3) Recall of factual information at one's command
4) To carefully note down minute details

Correct Answer: Recall of factual information at one's command
Candidate Answer: Recall of factual information at one's command

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To not have a clue

Options:

1) To be extremely poor

2) To fail an examination

3) To lose confidence at the last moment
4) To not know about something

Correct Answer: To not know about something
Candidate Answer: To lose confidence at the last moment

QID : 86 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Since when (have to start) a business been so easy?
Options:

1) has started

2) have starting

3) has starting

4) no improvement

Correct Answer: has starting
Candidate Answer: has started

QID : 87 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Those films (being) made now.
Options:

1) was being

2) is being

3) are being

4) no improvement

Correct Answer: are being
Candidate Answer: are being

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Protection of or authority over someone
Options:

1) Autonomous

2) Tutelage

3) Nonaligned

4) Unaided

Correct Answer: Tutelage
Candidate Answer: [ NOT ANSWERED ]

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Optimistic in an apparently difficult situation
Options:

1) Sanguine

2) Pallid

3) Pessimistic

4) Sallow

Correct Answer: Sanguine

Candidate Answer: Sanguine

QID : 90 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Actuasion

2) Actation

3) Actasion

4) Actuation

Correct Answer: Actuation
Candidate Answer: Actuation
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QID : 91 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Motheatan

2) Mothaten

3) Mothatan

4) Motheaten

Correct Answer: Motheaten
Candidate Answer: Motheaten

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

We entered, and
X-had been assigned
Y-to each of us
Z-found that a hut
Options:

1) YZX

2) YXZ

3) ZXY

4) XZY

Correct Answer: ZXY
Candidate Answer: YZX

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

The resulting brain change is
X-concomitant of

Y-the sensation
Z-regarded as the true
Options:

1) YZX

2) YXZ

3) Xzy

4) ZXY

Correct Answer: ZXY
Candidate Answer: ZXY

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Who taught you to ride?

Options:

1) By whom is you taught to ride?

2) By whom were you taught to ride?

3) Riding by you was taught by who?

4) Riding by you was taught by whom?

Correct Answer: By whom were you taught to ride?
Candidate Answer: By whom were you taught to ride?

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Sheetal said to me, "How have you solved this problem?"
Options:

1) Sheetal asked me how I had solved that problem.

2) Sheetal asked me how I have solved that problem.

3) Sheetal asked me how I had solved this problem.

4) Sheetal asked me how I have solved this problem.

Correct Answer: Sheetal asked me how I had solved that problem.

Candidate Answer: Sheetal asked me how I had solved that problem.

QID : 96 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The woodpeckers of the West (with one exception) are different those of the East, and so are the flycatchers, the grosbeaks,
the orioles, the tanagers, the humming-birds, many of the sparrows. of the purple and bronzed grackles (the
latter are seen on the plains of Colorado, but are not common), the Rockies boast of Brewer's blackbird,

habits are not as prosaic as his name would indicate.

West (with one exception) are different those of the East
Options:

1) for

2) from

3) of

4) to

Correct Answer: from

Candidate Answer: from
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QID : 97 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The woodpeckers of the West (with one exception) are different those of the East, and so are the flycatchers, the grosbeaks,
the orioles, the tanagers, the humming-birds, many of the sparrows. of the purple and bronzed grackles (the
latter are seen on the plains of Colorado, but are not common), the Rockies boast of Brewer's blackbird,

habits are not as prosaic as his name would indicate.

the humming-birds, many of the sparrows.
Options:

1) and

2) because

3) but

4) if

Correct Answer: and

Candidate Answer: and

QID : 98 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The woodpeckers of the West (with one exception) are different those of the East, and so are the flycatchers, the grosbeaks,
the orioles, the tanagers, the humming-birds, many of the sparrows. of the purple and bronzed grackles (the
latter are seen on the plains of Colorado, but are not common), the Rockies boast of Brewer's blackbird,

habits are not as prosaic as his name would indicate.

of the purple and bronzed grackles
Options:
1) Beside
2) Next
3) Instead
4) Near

Correct Answer: Instead
Candidate Answer: Instead

QID : 99 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The woodpeckers of the West (with one exception) are different those of the East, and so are the flycatchers, the grosbeaks,
the orioles, the tanagers, the humming-birds, many of the sparrows. of the purple and bronzed grackles (the
latter are seen on the plains of Colorado, but are not common), the Rockies boast of Brewer's blackbird,

habits are not as prosaic as his name would indicate.

(the latter are seen on the plains of Colorado, but are not common)
Options:

1) sometime

2) sometimes

3) at time

4) any time

Correct Answer: sometimes

Candidate Answer: sometimes

QID : 100 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The woodpeckers of the West (with one exception) are different those of the East, and so are the flycatchers, the grosbeaks,
the orioles, the tanagers, the humming-birds, many of the sparrows. of the purple and bronzed grackles (the
latter are seen on the plains of Colorado, but are not common), the Rockies boast of Brewer's blackbird,

habits are not as prosaic as his name would indicate.

Brewer's blackbird, habits are not as prosaic
Options:

1) whose

2) who

3) whom

4) whoever

Correct Answer: whose
Candidate Answer: whose
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